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irtually any debate

) iEo, niversal suffrage

fu
(A) Introduction 0 ‘
(B) Introduchon of Fundamental Rights

(C) Introduction of Parliamentary IS;'sterﬂ
(D) Introduction of Directive principles

2. Find the next letter in the following ceries.
z1,y3, x5, w5, w7, ?
() v9

va
:g}’ Oy (D) 9V
3. A wooden block is dropped from the top of

00m and simultaneously a bullet
;fwm'::s 10 g'llu;md from the foot of the cliff

with a velocity of 100 ms™. The bullet
ad wooden block will meet each other after a

(B) 10s
L (D) 7s

t Ind jan Governor of Reserve
kar (B) Sir C. D. Deshmukh
I)s_-"-None of the above

L

P

D, E, F, Hand [ are
ng each other.

to he second right
nare facing south.
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7. Indian Pepg) Code has total '_______.chapters.
(C) 25 (©) 26

8. Which of the following s the pattern " which
placenta is arranged IE Lsn ovary 7 _
(A) Stylopodium ovulation

(C) Aestivation (0) PIacentaHon
9. Indo-Sri Lanka Free Trade Mreemﬂm was
came into force
(@200 () 2018
10. What is the missing character that should
- replace the question mark ?
C F |
? I
] M
(B)
(D) M

The system of Gavernment adopted in France is
Presidential (B) Parliamentary
eral (D) Semi Presidential

is the husband of B. A x B means IS
er of B.

+Q x R, which of the following is true ?
) Pis the niece of R

(B) Pisthe daughter of R

{ the cousin of R

(D) P is the daughter-in-law of R

‘Climate Change Conference of the
copr26) was held from November
D21 at

(B) Hague

(D) Glasgow

n of the Code of Criminal
)73 deals with when Police may

ode of Criminal
‘;js_f'Crimlnal
of Criminal

‘means A is the daughter of B.A—B {ﬁz

R
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(A) 23 (8) 24
(C) 25 (D) 26

8. it @ ada-an N fodl @iz afEmm |
=rafiia a7

(A) Terrifem (n) S
() ufedm (D) G\EEH
9, wWd-teE Hﬁﬁmmaﬁ q
ERET R i BN . :
(A) 2021 (B) 2000 g%l
/1C) 2010 (D) 2018 (gl
10. Fuomy ww fre & v v -1 02 AW 7
A c F
D, 2 I
H J M
A F (8) J
(€) C (D) M

11. mig‘fmnimﬂwreﬁw%?

S&Aawﬁf (B) wdE

003 (C) |¥ig

A+ adEA BRI THRIA-BF I4R
ABFUHE I AxBF G R A, BT WHER |
I p+Q xR, FefafEa i @ aA-maa e ?
(A) P, R il 2

(8) PRI T 2
(C) p, R ==
(D) P, R @G 2

13. 2691 TYF T Tl &1 HHTH (COP26) 1-12,
Faa 2021 H B |
() HiER (8) &
(dRUEN (D) TEE

14, smafus wiEn wfgan, 1973 6 FE-d aw
gfem ane & famn fingerd & w=fim 2 7

(A) smrufua Wik wfea, 1973 € ur 47
(8) 3w Wik wfen, 1973 Wi 41
(c) smyufir wiwan wfean, 1973 1 wm 42
(D) 3nufirF whFn wftar, 1973 41 um 46
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‘rGH right
ABCD l{m comes three o the e left of
What 1;? |t comes hnmudlﬂti‘hl’l e right of the
or 1he s to th
iy ¢ that comes three  the letter B ?

the lette _ il
!cne; imnwdlate!v to e
0 6 o A

i ulture
i : ting anather €
tice of evalua ouhue?
I?for%rri:: to the standards of ones 0
::lir:ure is calle :
(A) xenocentrism
(C) Ethnncentrism

(8) Multiculturalism
(D) None of the above

e imtt
Select the correct mirror image of the gIVe

figure when the mirror is placed at line AB.
B
(A) («g') (8) é)
[OfAD
BRE
@ -E

Which type of insect pests are responsible for
yellowing and drying of foliage ?

(A) Bitting mites (B) Roaring mites
(C) Sucking mites (D) Sleeping mites

0.000033+0.11=7
(A) 0.003 (B) 0.03
(C) 0.0003 (D) 0.3

In Microsoft Office slide show button has

whi .
Whgpan” " usedtoadd information

(A) Last viewed
B) Hel
i ( p
1‘.’a:":h‘::msl‘h:h". (D) Pointer options
rémembers that her ¢ 's bi
rf ather's birthday

Is between 13th
and 16" of jyne. Whereas

memb :
Irthday i between 1:{,?;:Et their Father's

ch day is th d 18" of
(A) 14‘“JUnEEIrFathE'J5 ?g)th;'a - une, On
lune

(€} 15" jyne
(D) 16t June

15.

16.

17.

131
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(A) (8

o g o
w1 o @ o e & i
R e é 7 o s 2
(A) FIATHTE  (3) THTER
(C) T (D) €7 7 T
0.000033+0.11=?
(A) 0.003 () 0.03
(C) 0.0003 (0) 0.3
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ARFEW s mas?
e e i QA ¢
vt p) &
A) TRTE (5 st
o AT
?:::E Fafat) dﬂ;ﬁmi |5
g A F 5 e
ﬁmﬂﬂﬁﬂﬂ (6) 18%
(A) U (p) 16%
() BF
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22, hmm. particutar form of ife 18 sulted | 22, yrw wwrerw B Fy, fysrq ot v Fird = 30 i
m or to mr in {‘I'i\.ll'ﬂl‘ln'll"l'lt-'ll Iﬂqmwlr'ﬂ' i1 fra lf'! i -’;{F:-r_‘* f“"l" m’.
(TR AIEHE: UEE RS
m WWI‘“‘" 0y Maw SECERE
m Plation (C) smmfaa wqgera
(D) Both (B) and (C) (D) (B) 3% () 214
23. At what tir 45 ocock are | 23, Frmamm 4 she g aa w s, freer oft 02 o
"!? ho,ur hand ﬂf a t]ﬂtk mn ‘T{ ﬁﬂﬂﬂ fm._u‘,l {i ﬁrn 2
- (A) 4 w7 54.151 fir
- minutes
= - (B) asa%T 53_ firaz
: 1 ~
minutes (C) 4751 551-1- faaz .
Butes (D) 4 TwF 51% firz
esearchinstitute (NORI) | 24, F fam fod o ovrd wfh o am -1 2w
district of Haryana. &mm Heaa (vA, Aam.ard) ﬁiﬁl R?
(B) Rohtak 50 (A) e 3 (B) TFas |
(D) Delhi (\ (C) wa | (D) feechrd
0\ 25, UATERE Y 7
2 Internode of (A) T il & Frer ol wren & i A
the cal-,rxand a wm;ﬁmﬁm a
G S (8) F Nl & difarm af i F i
pecium JEAIS -
e Internode between {C}-jﬁ': ;mﬁ o aTer 7 i T F i
Internode between (D) F2 i 3 yafeal aft vgifirm F e
HEACIE
he second in |  26. nmtﬁra%nﬂm UF ¥3 FEA T OIH
Feamn ¢ |
Constable (A) 'é'm (8) 31
(C) AT4= (D) Tﬂ?ﬁl’ﬂ
n below. | 27. va watF A 2 Tl @) 9 qnim nm ¥ |
ber will we N9 g, @ A= wen e ?
(57) A%
(A) 2 (8) 1
m (C) 4 0) 5

CMES - Sa

Y1



»® the later half
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28.

29,

30.

31.

32.

331

ontered
Weber's analysis of modern society ©

on the concept of

(A) Regression
(C) Repression

(B) Compensation
(D) Rationalization

What is the maximum nt

ymber of pieces into
which a cube can be cut by 18 cuts

(C) 282 (D) 343

Consider the following statements about
Meghdoot mobile app.

1. It provides crop advisories to the_farmers
based on the weather information.

2. It is a joint initiative of India
Meteorological Department (IMD),
Indian Institute of Tropical Meteorology
(IITM) and Indian Council of Agricultural
Research (ICAR).

Choose the right option given below :

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct

(D) None of the above

A can complete a piece of work in 18 days,
B in 20 days and Cin 30 days, B and C together
start the work and are forced to leave after
2 days. The time taken by A alone to complete
the remaining work is

(A) 12 days
(C) 15 days

(B) 10 days
(D) 16.days

helps in creating a
presentation by leading you through some
basic steps.

(A) Notes pane

(B) AutaContent wizard
(C) Auto save

(D) Slide master

Want-s.?tjsfying{:apadtynfa commodity or service
(A) Utility ' (B) Demand
(C) Consumption (D) Investment

The following question is based on the series ;

ABCDEFGH
TUVwxyz S KLMNOPQRS

Ifthe above alphabets are di '
edividedint

halves from A to M and Nto 2z, whichﬂgtggru?r:

€ corresponding to the

(B) X
(D) w

(A) Q
(C) v

30.

31.

32.

33,

34.

EESELRETT

(B) T 2 3

(€) T 13K 23 gy 8

(D) 3% 7 & 37§

A TH IR 18 5 :

¢, 30 & o w8, uﬁinincmﬁ
mﬁ%ﬁ]?ﬁﬁfﬁzﬁmzmzﬁmﬁ cE

; 9 T F o & S
Am%mrrmmT i
(A) 12 A

(c) 15f& 8) 108

(D) 16f&
— e w3 s
(A)

(B) aaFdz fammd

(C) 3l

(b) wmgEWRA
T U Al g & win —I{ﬂﬁqmu; Bl

(A) wat (8)

(C) (0) A
ArRft@eAA B CDEFGHIIKLMND
pQRSTUVWXY 2 s ot R |
e 3 vl @ & W ad, AR Mot N
3 afer se dl e am et o aof y & wnd

- aof g ¥

(M Q
(Vv

(B) X
(D) W
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L}'éii;?aﬁ,f ::ti :;llln'ﬂring is not an example of a | 35, freaferfiaa :1 A Wy s 3 Wa w e
Y sou ' . U
(A) Wood te? my ;
(C) Nuclear (B) Gobar-gas 1rntﬁ (A) &%) (1) “\_‘m-ﬁ“
eNerRy  (p) coal (c) =nfirfn 3 (D) e
%. ﬂ‘;’fﬂn”“'a”a Day is celoprated every 36. Frza wafen frar welr ad ) A
(A) 25 August 30 Wil
: (8) 30 March (A) 25 MY (D)
(C} 25 Apri (D) none of the above (cf 25 3@ (D) 3 o A el
37. Anil reached a place o et v e E R UBEC R G )
n Friday. He came to 37, ST UF T T '-‘JJ:IT.H L
:::?;:T? 2 € was three days earlier than the fir ag Fwtha wug @ da R g ada o | If3
Jled day. If he had reached there on the @ 311 Al WrEn @) e MEIALGERES
fl:l"ﬂWlng Sunda h I L4
he would have bEEn':;,w many days late/early o forera v 7
(A) One day earlier lier (A) & fea gl (8) @ faA 7
() T (B) Two days eariie il
wo days late (D) One day late (c) @A ar (D) T[4 ATE
38. The amplitude of the electric field of a plane 38. I ﬂﬂﬂﬂﬁﬁﬂﬂﬂ;ﬁ“w%ﬁﬁqﬂ &3
E|ECt!’DmaEnEﬁc wave in air is 6 x lﬂ-dl vm-L. amam 6 x 1077 e ¥ izt € | %ﬁm &?ﬁl &l
The amplitude of the magnetic field will be T B =
(A) 1.8 x 10°T (8) 5x107°T (A) 1.8x 10°T (8) Sx 107 T
(C) 2x107°T (D) 2x 10T () 2x107'T (D) 2x107°T
2. Is a shortcut key to startanew | 39. T 74 S W TN F
word processor file. ¥ fore o e el R |
(A) Alt+N (B) Shift+N (A) Alt+N (B) Shift+N
(C) Ctrl+N (D) Alt+Ctrl+N (C) Ctrl+N (P) Alt+Ctri+N
4. Which of the following will be the third digit|" 40- Frafafiaa demsll @1 U F W wafedd
from your right end of the fourth number 0 ¥ a2 e wEm % 2 o B AW 3
after the numbers are arranged in descending Fa-mem ?
order ? 102 7518 6305 5942 4697 6989 5392 7518 6215 5942
9 539
':i??d 6989 5 i (A 4 (8) 5
(C) 2 (D) 9 (C) 2 (D) 9
4l Theft of intellectual property is prohibited as per 41, =fEw ‘-Eiq;?ﬁ v ford s R R 7
(A) Arms Act, 1959 (A) T muﬁﬂﬂ. Tgsgm
(B) Criminal Procedure Code (B) MU ﬁﬂi%u H
(C) Copyright Act, 1957 (c) sz srfufvm, 1957
(D) Companies Act, 1956 (D) et e, 1956
8. Who is the Current Chief Minister of theState | 42, wifiqu Ty & adam qEmeh #A E 7
of Manipur ? (A) 1 @Tg,
(A) Pema Khandu o (8) sitmeiream it fée
(8) Nongthombam Biren SIng () Frem FRA
(C) Biplab Kumar Deb (0) i i @
(D) None of the above
7 Y1
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acy
43, According to 2011 census the female lirer
rate of India is
(A) 69.4% (B) 82.4%
(€) 75% (D) 64.6%
f
a. Which number will come in the place 0
question mark ?
9:80::100:7 .
A) 901 (8) 100
c) 9889 (D) 9999

~__ensures that information IS
y to those persons who are
ed to access it.
fi (B) Integrity

(D) None of the above

(B) 67,67C, 67D
(D) None of the above

tudents, Rakesh is 12" from the

L (

hi interchange their pOSiﬁﬂ"Lsf._:
27" from the right. How many
e between Kashi and Rakesh'?
(B) 10 s
(D) 12
nancial sector in India is regulated by
ance Minister
3ank of India (RBI)
¢ of India (SBI)
Ainister
artain code, 'PICTURE' is written as
then how will ‘TELECOM' be written

(B) GVVOXLN

(D) GVOVXLN
)

states of India are defined
of Constitution of India.

(B) Article 203
(D) Article 14

 above the baseline s

is 17" from the right. When | ¢

43.

45.

45:

49,

50.

51.

. Mes..,
ot AT e o
:nm'cﬂﬂt e
A%
IAI 32% [Bl 32.4%
(©) - (D) 64 gy
fad ™~ T A
S;'qsﬂ::io'j"? mmWM?
{,ﬂ- 90;9 IB} 1009
(C) 98 (D) 9999
(c) ST :

: (D) 37 &1 335 =
ATgAT TR ¥ : '
yrod FE-H 8 7 fmmm’gf’ Wi

(A) 66, B6A, 6B (B) 67,67C, 670
(C) 67A, 678 (D) I & & =378 =7
feren e ot v ifi &, ey e 2

A JTFEN AN R 12312,
Frafl e F 17 a7 3 | 519 T3 o w0 e

¥ A G 72 o f, @ wmh e g 00
m%lma\tmaﬁﬁaﬁﬁﬁ%z

(A) 9 (B) 10

(€) 7 (D) 12

Wi | s éy 0 Fafm a2
(A) fom A

(8) ﬁ\;rﬂm AT 3 (s Asn)
(C) ¥ 4% 3w 3fvgan (vm .31,
(D) Ty

gfe W Fz # 'PICTURE’ &1 'KRXGFIV' o =1

2, di 3u g2 ‘TELECOM' 1 ¥4 foran wmem

(A) GVOVLXN (B) GWOXIN ...

(C) GOVVXLN (D) GVOVXLN

T % Tl 0 3 WA ERR E ___

¥ st qroAITed 8 | -

(A) 3TF=0% 292 (8) ¥

() 3329 (D) ¥ 14
S RATE T

Feama e | e

e (8)
E‘éi =, (p) S
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L.
:‘;d;:u:&h Jargest in energy
(A) 6* W "
(C) s ) a®
53. "'"Et!nuty, - Compressed
Natural Gas tc:mh".: “h:';'n"pfm transport
SYSteM has significanty, youered air pollution

in an examination. In
nm alv followed by P
: as ahead of Q
s T. Who scored

-------
b L L

in 10 days,

uired to bind-
&

CMES - 54
g2, s favadt i g sl o
aren An A
A) 6" (m) #
{IC: i 40) 4"
g3, 111 A WD AT A, ar! arhfea argfrs fn

RS IRRERL S b s e b afas afae
mﬂf‘l i A ay ardy wn owe fam By

(A) ettt () rad

() wut (D) freeh

3 g pftan & gent fam g afrmm s
= :1%;:;2‘: Lr}:'r? arq p ¥ vz ard A Y R.Q
# am & uig 1 faed a5 il en | aut s
aqu walfirE 3k el Aret R
(8) P
o) R o) 7
g5, “mAis fow HE aaré 2021
g feran |
(A) FhEAE
(B) A T3S
(C) 7 ,
(o) sfirfém 2m i

<6, aft 183§ 900 TEH 10 ft & =hrd £, 7

660 qETH1 12 At § e 3 feo, e wmesdt

(A) 55 | (B) 14

i) 13 (D) 11 _’
57. Fite g am R T H R 7

(A) I T (B) 99

(C) IAUTEE (D) TRTEAH

. @ify e @ sl 9 km e #, fEoAw
” ggﬁ?kmaafﬁ%.ﬁﬁmgsm%uh
8 Km el 2, R amw geaR 11 Km =
R 2d g 7 Km i) & | @ s F @
R gL ?
(A) 3 Km (8) 9Km
(C) 7Km (D) 6Km

59, uﬁtﬁﬂﬁatﬁmﬂ‘lmuﬁnﬁtﬂtﬁk.?ﬁﬂt
(A) tnfa 1w whifd
(8) v Al
[qwmﬁvﬂf&
(0) T

Y1
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60. Baking Soda is
(A) NaHCO, (B) N2,C0,
. (C) Na,c0,.104,0 (D) Na,3C%
61. Find out the missing term.
240, 120, 60, 7, 15
(A) 20 (B) 25
I () 30 (D) 10
62. Pollination by Pseudocopulation is seen In
| (A) CAM plants (8) Orchid
- y (C) Papaya (D) Coconut
| : > 4 63. One ago, the ratio between Laxmi's and
L e Gopl'ze:;hry was 3 : 4. The ratios of their

individual salaries between last year's and this
year's salaries are 4 : 5 and 2 : 3 respectively. At
present the total of their salary s Rs. 4,160. The
‘salary of Laxmi now, is
(A) Rs. 1,040 (B) Rs. 1,600
(D) Rs. 3,120

, Excel sorts all the data in
_order.

of the above

e following statﬁeﬁts about
ployment in {ndia.
m et

P

60.

61.

62.

CMEs .
afn @ E Sy
(A) NaHCUJmH (8) "

() N, €% 0 oy gt
g 7 ™=

240, 120, 60: %, 15

(A) 20 (8) 25

(c) 30 (0) 10

o HTE Wmm%% :

3 4“'“%%“@%@%:;

émﬂwgqmwsaﬁu:atrﬁnn

3 o F ¥ 41608, AR 3 5w b

(A) ¥ 1,040 (8) %. 1,600

(C) % 2,560 () 3. 3,120

L Rpfee T9E, we 5

el OE HiFgi =

(AY ST

(B) IIH

(C) WM

(D) 39 | =7 7

WA At S F st

o fmm | |

1. e Tl 7w G R S A A 3
%ﬁa;e‘mﬁ(m-tﬂm%ﬂwm?é

|

2. FARREm s wm TR S
A FARA FAE |
refefEnid wd e mam &
(A) oA 19812
(B) &R 2W& 2
() T 132 m’iaﬁi
(D) e 13 LIk HECE

T 1 e i ¥ R G A
FEde !

(A) tgE

(8} =T

(c) st
[D_: mﬁﬁﬁqﬁ
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MWI"‘ rt‘n

~ them can be

Humin

two
Whies ONclusions. Choose the
Statemens , &th‘ﬂﬁttsl logically

m} BW‘I ' wu’bﬂlnt:rll follows
Ml v land | follow

tapii————_ button on the
%ﬂﬂﬂi inserts the SUM

are 10 famps in a hall, Each one of

4, switched on independ
g e Lot pendently.
3 ;f Ways in which the hall can be

13
B W
’_ rrt.'_d.-- e et
F 1o}
1
i [
i
)

statements are given

(B) AVERAGE
(D) PROPER

(8) 1023 - ‘2
(D) 10! i

32l0)
sion
(B) Equanil

(D) Dimetane

,(}C\
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67. tawva @ frooam 3 Faaw sz o fad
fan mo & 13 Bt s A mfia =8 b
uf Az 8
Li L

1. T A uufi #
2. %1% waft wEEarh TE R
e -
| FB st A # |
I nachuikich

(a) = Fraed || sgmon @wm @

(B) Faa fan | sgmom wm @

(c) 7 fad 13 & 0 sgEm F R

(D) fwd 1 3t ) 21 s 7@ §

68. SUM ¥FT aF wfus T¥e @91 F fo ueEa
BsE@maw 73 WAt
FIA R, 7 EHA § SUM WFTE ST |

(A) AutoSum (8) AVERAGE
(C). EDIT (D) PROPER

Q)
69. vF7iad 109§ | 37 A wArE A S EI B
Q}(\(bmqﬁ?mmm%lﬂam’!ﬁmmﬁ:aﬂﬁ

Eaficef
(a) 210 (8) 1023
(c) 107 (D) 10!
70. _ FIWEM HEER 3N I NN
Fafmsmdame
(8) EFTETE T (B) THAS
(€) F1EH (B) TR

71. UF W F IER, I Fzaum Jn s
Feadm & & 71wl =1 wiowra o £

(A) 40,10 (B) 60, 20
(C) 40,1 (D) 20,1

72. UF TEEER G4 0 11 =T F1 3@ 50 @
e, FraT mf i wa m? A am g
sam i F A 220 m*Em @m R | v A
Fai 8
(A) 14HTZT (B) 15 H=X
(€) 1657 (D) 201

Y1
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BC stands fo
'A} Belfore Compute imterface

‘B] Bra:y Comput® rvtier AL LR )

(C) Before Computer Inienk thn ::i[;
(D) Brain Computer Interface Pty

(SAAL
This

Based 0on characteratics all hiying Orgat!
can be classifed into different taxd

process of classifricatron is called
(A) Taxonomy (R Algorthm
(C) Claxigomy (0) None of these

If the 6™ termof an AR s 121, then the sum

of its first 11 terms is

(A) 1210 (B) 1331

(C) 1330 (D) 1333

The UEFA - Football European Championship
Final of 2020 was won by .

(A) South Korea (B) Indonesia

(C) ttaly (D) England

When did Vardhamana Mahavir attained Ninana 7
(A) 526 BCE (8) 748 BCE

(C) 599 BCE (D) 527 BCE

Manish invests Rs. 3,818, which is 20% 6f his
monthly income, in insurance policies, What is
his monthly income ?
(A) Rs. 19,090
(C) Rs.19,590

(B) Rs.19,009
(D) Rs. 19,200

means taking backup of dataona
remote computer over the Internet.
(A) Mirror backup
(B) Full backup method
(C) Online backup
(D) Incremental backup

80. World Immunization Week is celebrated every

year on

(A} 24 to 30 September
(B) 3 to 9 March

(C) 24to 30 April

(D) None of the above

B1. Cyelical changes during reproduction In deer

Y1

are called
(A) Oestrus cycle (B) Menstrual cycle
(C) Sexual cycle (D} Asexual cycle
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(A) 5253_‘@;@5 (B) 748w qd

(c) 593 dm (D) 527w
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@ Alain ryny;
Crosses P::’d::m of 90 km per hour

mWhm double Its length in

the langth of the platorm ?

e b i
cards havin re $ma) .
g I, portable pocket size
(A) &Edftc:;ta “"'lulﬂmw.
(C) Debltcary  'B) smart card
None of the above

. it ﬂ*md *Prometheus Bound® ?
' (B) Sophocles
[D) Aeschylus

nent in which the rulers are

(8) Communism
(D) None of the above

of the ¢rop sceds, some
Or guar are grown and
g them into the soil.
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(A) 1775 (B) 1778
(C) 1779 (D) 1782
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S1.

English Language

In the following question, a sentence has bee!
given in Active/Passive voice, Out of the four
alternatives suggested, select the one which
best expresses the same sentence in Passive
Active Voice.

Garima has written a newspaper report on the

inauguration of a new Corporate Office.

(&) A newspaper report on the inauguration
of a new Corporate Office have been

_-written by Garima.
(B) A newspaper report on the inauguration
- of a new Corporate Office had been

7 written by Garima.

(C) A newspaper report on the inauguration
of a new Corporate Office is written by
Garima.

(D) A newspaper report on the inauguration
of a new Corporate Office has been
written by Garima.

The following sentence contains grammatical
error or idiomatic error in it, You have to find
out that part of the sentence and choose the
i alphabet of that part as answer.

He has been causing trouble since a day he
came.

(A) He has been (B causing trouble
(C) sinceaday (D) he came

In the following question, part of th
sentence is underlined. Below are § .

N
?
&

ven alternatives to the underlined part at (A),
B) and (C) which may improve: the sentence.
Choose the correct alternative. In case no

JImprovement is needed, your answer is (D),
- Ananya told me that she was married four

(B) Fouryears ago
(D) Noimprovement
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